vV WArARD (RARALUN ULL W, LEAL  CIATELS FLU LUR WELL M,
UKIY SECYION : TOWNSHIP
L: 1139 B: 11320 W 1 G/
£C02 :  0.864 N 0,508 HS : DATE  :5/10/00
d: 1.995 Pr :0.01823] GH 0.0 RANGE :
VOL1: 830  PSIA1: 43.2 RESV. TEMP 187.3
VoL 2 ¢ PSIA 2 ;
YOL 3 : PSIA 3 : SHUT-IN PR= 3317.9
VoL 4 . PSIA 4 :
PR : §74
(R : 358
LINE RATE 1 RATE 2 RATE 3 RATE 4
“15T 2D “18T 0D “18T "IN “18T D
I 0.830 0.830 0.000 0.000 0.000 0.000 0.000 0.000
? W 534 534 534 53 534 534 534 53
I 0Ts 647.3 647.3 647.3 647.3 647.3 647.3 647.3 647.3
4§ 17 530.6 | 590.6 | 590.6 | 590.6 | 590.6 590.6 | 590.6 590.6
PR (est) 0.69 0.00 0.00 0.00
5 I{est) 0.928 0.928 ERR ERR ERR ERR ERR ERR
6 T 548.2 548.2 ERR ERR ERR ERR ERR ERR
1T GH/T 0.000 { 0.000 ERR ERR ERR ERR ERR ERR
8 S 1.000 1.000 ERR ERR ERR ERR ERR ERR
§ 1S 0.000 0.000 ERR ERR ERR ERR ERR ERR
10 463.2 463.2 0.0 0.0 0.0 0.0 0.0 0.0
11 Pt2 /1000 214.6 214.6 0.0 0.0 0.0 0.0 0.0 0.0
12 Fr 0.018231 |0.018231 {0.018231 |0.018231 {0.018231 |0.018231 {0.018231 |0.0182311
13 Fe=PrT? 9.994 9.994 ERR ERR ERR ERR ERR ERR
14 Feim 8.30 8.30 ERR ERR ERR ERR ERR ERR
15 L/A(FcOn) 68.8 £8.8 ERR ERR ERR ERR ERR ERR
16 B 0 0 ERR ERR ERR ERR ERR ERR
17 214.6 214.6 ERR ERR ERR ERR ERR ERR
18 Ps2 214.6 214.6 ERR ERR ERR ERR ERR ERR
19 Ps 463.2 463.2 ERR ERR ERR ERR ERR ERR
20 P 463.2 463.2 ERR ERR ERR ERR ERR ERR
A 0.69 0.69 ERR ERR ERR ERR ERR ERR
2 0 1.65 1.65 L.65 - 1.65 1.65 1.65 1.65 1.65
23 A 0.928 0.928 ERR ERR ERR ERR ERR ERR
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